THE KENYA NATIONAL EXAMINATIONS COUNCIL

KCPE 2016

MATHEMATICS

Time: 2 hours

INSTRUCTIONS T0O CANDIDATES (Please read these instructions carefully)

1. You have been given this question booklet and a separate answer sheet, The question boakiet containg 50 QuEstions.
2. Do any necessary roush wodk e this Beoklew
3. When you have chosen vour answer, mark it on the ANSWER SHEET, not in this question hooklol
HOW 10 USE THE ANSWER SHEET
4. Lise an ordinary pencil,

5. Make sure you have written on the answer sheet;
YOUR INDEX NEMBER
YOUR NAME
NAME OF YOUR SCHOCH.

6 By drawing a dark Bne inside the correct numbersd boxes mark vour full lndex Number (1o, School Cnde Number
and the three-figure Candidate’s Wumber) in the grid rear the top of the answer shecr,

=

B0 not make any marks owside the hoxes,
3. Keep the sheet us clean as possible and do set fold i

9. Forcach of the questions 1 5( four answers are given, The answers are lettered A, B, O and [, In cach case only
ONE of the four answers 15 correct, CChoose the cotreet ansacr

10, G the answer sheet the correct answer 1s 1o be shown by drawing a dark line inside the box i which the letter vou
heve chosen 1s written.

Example:
In the Question Eooklet:

44, What is [.28978 coreet to three decimal places?

A [28
B 1.359
e, .28
v 1.290

The cocrect answer is THET2900
Ckn the angwer sheet:
sk R o m w o [RES ol o (EYR | TR AT TR T R
L the set of boses numbered 44, the box with the letter 1 printed in iz is marked.
11, Your dark lHne MUST he within the bos.

12 Foreach question, ONLY ONE box is 1o be marked in each set of four hoses,

This question paper consists of 16 printed pames,
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What 15 thirteen million, eleven thousand
ome hundred and one in symibols?

A, 1311101

B. 13011411

. 13110101

13, 13011101

How many groups of a hundred are there
in the todal value of digit 5 for the number
45(0319.27

A, 50
B, 500
¢, 5060

I3 50004
What is the value of

0.21%0.35% 267,

49%0.015%R9
A 003

B 01

.3

0. 30

The figure drawn helow 15 a rectangle.

{x+7)cm

(x+I)com

_{’-}x 11} e

What 1s the perimeter of the rectangle?
A, SZ2cm

B, d42em
. 2b6cin
. 9¢m

What is 340068 divided by 177

A 20004
B, 2004
¢ 204

D, 24

What is the difference between LOM of
12 and 24 and the GOD of 534 and 367

A 42
B. 24
18
D, 6

S06503
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7.  What is the value of

A1
B. 17
¢z
D, &

8. What is the next nurnber in the pattern
3,10,5,12,7, 14,9, 16, .7

A 11
B. 18
¢ 21
. 23

5, The area of the trapezium JKLM drawn
below is 344 em”. Line JK iz parallel to
line [.M and line JM 1s the perpendicular

distance.
J \ K
J i
16 cm
! N
|5l A0 cm

What is the length of line KL?

A 12¢m
B, lécm
. 20cm
ID. 28¢m

10. $ix men can complete a job in 20 days. If
the men work at the same rate, how many
more are needed to complete the job in 12

days?
A 16
B, H)
. 8
. 4

11. The mean of ten numbers is 5.8. Ninc of
the numbersare 5,9, 3,7, 6, 4,6, 5 and
7. What is the product of the mode and
median of the numbers’?

A, 34
B. 36
¢ 30
D12
06303
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19. The figure PQRS drawn below is a Working Space
parallelogram. Angle PSR - : 70°, angie
PQT : 30%and line TQ - : line TR.

i
=

What is the size of the angle marked x?

AL TR
B, R0®
¢, 100¢
15 1

20. A children’s home was supplied with 40
cartons of milk. Fach carton contained 60
two-hundred miililitre packets of milk.
How many litres of milk were supplied?

AL 480 000
B. 4800
. 2400
D. 4380

21. The following stack of cubes was dipped
in pawt,

i 'r l %
) i ‘ { l
g
" How many cubes had paint on two faces
only?
AU
B. 22
. 24
D, 60
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22, Adairy farmer sold milk from 8" December Working Space
2011 to 8™ March 2012, How many days
did the farmer sell the milk?

A, 90
B. 91
| S L
.93

23. In a school the ratio of bovs to girls 1s 3:2.

There are 600 pupils in the school. During
an athletic competition é of the girls and
% of the boys teok part. How many pupils
took part in the competition?

A, 448
I3, 288
. 200
o112

24, The table below shows the number of
puptls absent from a class of 42 pupils, in
a certain week,

3\'1011_ Tue | Wed | Thur | Fri

Cirls 4 5 2 3 5
Boys 2 3 3 2 3

What was the total class attendance for
that week'?

A 12
B. 30
¢, 80
o210

23, Constiuct a parallelogram WXYZ, such
that lines WA - - 5 cnrand XY - - 7.5 em.
Angle WAY : ¢ 135°, Jom Wto Y and Z
tor X and Fet the pomt of intersection be O,
What 15 the length of ling W7

A, 2ecom
B. 532cm
C. 58om
D, 1l.6em

26. Whatis $(2Lm + 42n) = 2(18m - - 18n)

i
expressed in its simplest form?
A Hm ot 3n

B. 2dm - 3n

o 2dm o Gm

. 2dm + 33n

G06503 7 TURN OVER
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29,

A sales agent 15 paid a basic salary of

sh 12 000 and a commisston of 3%% {or
gooads sold above sh 30 000, In a ceriain
momh, his toral earnings were sh 15 000
What was the value of the wtal sales?

A, sh31 500

B. sh 65000

(. sh 100 Q00

3. sh 130000

. The pic chart below represents the tvpes of

vehicles imported in Kenya in a cortain year,

e e

— | B

(MAZDA /

| s
/ MITSUBISHT Y/
/ :49:1//

S sl NISSAN

| - "l---'f /ﬂ
: 45 } LR

\ VAV
.-"'/

11 16 000 Miwdas were miponted, how many
more Toyotas than Suzukis were imported?
Al 48000

13, 28 800

¢ 19200

D 9600

A train left wwn € on Thursday at

6.45 pm and took 9 hours 30 MInLRes 10
rench town R, At what time and day did 1t
reach town R in 24 hour elock system?
A, 0315 h Frnday

B, 0415 h Fnday

(", (413 h Thursday

. 1615 hThursday

30. A eylindrical tank whose height is 3.3 m

has a diameter of 2.8 m. 11t is —:.: full of

water, how many tore litres are needed to
- >

fill the tank? (Take® 5k

A, 3624

B, 12936

. 21560

. 344596
G06503

Working Space




3l

fn the quadrilateral EFGH drawn below,
line EF 15 paraliel to GH. The dotted line
JGr is the perpendicular height. The area of
the quadrilateral 1s 3 600 m™

H ~

Working Space

32.

34,

What is the length of line EF?
A, T2m

B 7%m

oG

. 1260m

Halima bought the following ftems from a
shop.
2 kg of suger wt sh 112640
4 packets of L litre milk (@ sh 40.00
1] kg eooking fat at sh 120 per ke
2 ke of wheat flour for sh 210
14 ke af salr at sh 24 per hg
She paid for the iters using two 500
shilling notes, How much bailance did she
receive?
A, sh220
B, sh300
. shd94
[}, sh 7RG

. Awatch loses 5 seconds every hour, The

watch was set correct on Wednesday at
630 am. What time drd 1t show at 630 pm
the nexl Wednesday?

A, 15 pm
5. 6.l6pm
¢ 629 pm
[, 645 pm

-

A man was 27 years older than his son
ten years ago, His wife is 4 years vounger
than he is. I ther total age is 116 years
now, how old is the son®

A 12
B 222
¢ 45
[ 49
906503
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35. The table below shows commission Working Space
¢harged on postal orders.

"Value of Order | _Commission |

1000 33.00
2000 3600
3000 69.00

4 {0 | 117.00 i

Mary was 1o send sh 7000 using nostal
orders, Which onc of the following
combinations of value of orders shows the
least commission she would be charged?
A, sh 4000, sh 1000, sh 1000 and sh 1000
B, sh 3000, sb 3000 and sh 1000

(', sh 4000 and sh 3000

. sh 2000, sh 2000, sh 2000 and sh 1000

36. What is the value of x in the equation

oy

.1‘_ - X s 30
4 2

A 2

B. 3

L B

D. 6

37. The area of a square plot of fand 1s 3.24
hectares. The owner of the plot wanted to
fence ali round placing posts at intervals of
S metres. How many posts were required?

A, 720
B 180
. 145
D, 144

38. The figure drawn below 1s 2 right-angied
triangular prism.

[0 em

What is the volume of the prism?
AL 3000 em!
B, 3200 cm’
. 6000 em’
3. A500 e’
ANe303 10




39. Inan election, three candidates took part. Working Space
The winning candidate got 0.429 of the
votes cast while the other two got (L3850
and 0. 184 respectively. There were 54
spoilt votes. How many votes did the

winmer get?
A 13436
B. 32424
. 36030
D. 84000

40. Aoy was loaded with 150 cartons of
cooking fat and 120 bales of flour. Each
carton of cooking fat contained twelve
2kg tins, The mass of an empty carton was
500 grams. Each bale of flour contamed
twelve 2 ke packets. What was the total
load n tonnes?

A, 64R()
3. 6.555
. 6615
I3, 6.535

41. In the figure below lines UV and CD
are parallel. Lines WX and YZ, are

trangversals.
W Y
e/t i\- i
- - : . v
hig > 1V E
5 q/r mhn
C > — I
t/s 3 plo
!
X 4

Which one of the following statements is
true about the figure?

A, angles rand { are co-mtenor

B. angle;is vertically opposite to angle =
(', angle ¢ is alternate to anglc 7

D). angle  corrcsponds Lo angle f

&S5035 11 TURN OVER
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34,

A farmer harvested 1 200 crates of
tomatoes in the year 2011, This was a 20%
decrease {ftom the year 20H1{L How many
crates of tomartoes did the farmer harvest
n the year 20007

A 1500
B, 1440
. B0
B 240

The figure below represents a half of'a
cylindrical piece of wood of diameter
28 em and a length 30 cm.

What is the surface arca of the wood?
(Take @ - =)
A. 6416 cnr’
B 4216 e
. 3908 em’
{3, Z&iScem-

(hepkocch has & bananas, {hnoelto has two
maose bananas than Chepkoech. Nekesa
has three bananas less than the total
number that hoth {hepkoech and Omollo
have, How many bananas do they have
altogether?

AL b+
B o4k 3
G A

[y, 4%+ 7

06305
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45, The table below shows a bus tumetable
fronn torwn J 1o o P

Town | Arrival Time | Departure Time
J 6,25 am
I K | 505 am 5.30 am
L 630am 10.10 am
M - 1l.25am P14 am
N | Litpm 1.40 pm
3 2.20 pm 3.00 pm

What 13 the distance from town M to town

N i the bus travelled at an average speed

of 80 kmvh'?
A, 120 km
B. 140 km
. lallkm
[n 180 km

4. The ficure below represents the net of a
solid,

What solid can be formed from the net?

A,

B.
S
:;Eﬂ D.
906503

Hectangular pyramid
Trangular pyramid
Rectangular prism
Triangular prism
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47. The iable below shows bus farcs to
different towns in shillings.

100 Kasuku
250 | 200 | Tausi
250 | 330 | 250 | Mwewe
650 | 500 ] 450 250 | Tai |
@ ["ss0 ] 500 3 300 100 | Kanga |

A man, his wiie and their 3 children Teft
Njiwa for Kanga. They stopped at Tausi
and then continued with the jowrney 10
Kanea in another bus. The buses used the
same table and the fare for children is half
that of adulis. How much did they pay

altogether?

A, sh3750
3. sh2625
. sh2430
D. shl 875

48. The figure KIMN drawn below is 2 sguare
of sides 40 cm.

K.‘ fz,-;‘f/j;’ 1.
| A \|

I Py r,{
<

What is the area of the shadad part?
(Take = 3.14)
A, 12836cm

B, 472 cm’

. 628 cm’

1y, 344 em’
006503
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49. The graph shown below represcnts the Joumey

and back.

distance
n ki

280

240

200

160

120

a0

4}

700am  B00am  S.00am  1000am 11.00am 1200 am 100 pm

__________

of a motorist travelling from town Q 1o town R

What was the average speed of the car for the whole Journey?

A 40 kmdh

B. 0 km'h

0 M kmvh

. 96 km/h
06503
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S0, The shapes below show a sequence of a pattern.

oo

¥

DRSRN

Which one of the following shapes below would be the next in the pattern?

O R S

t , 3 )
4 3 / __-#/A
B _j )

906303 16




